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n = _ 2 _ 2 4 4 6 i 6 j _ 8 
2 l ° 3 6 3 e 5 9 5 ° 7 9 7 

n = 2 2 2 4 4 6 6 
l e l ° 3 ° 3 8 5 e 5 e 7 

for which the success ive products 9 a s n-*-oo9 a r e : 

(Wallis) 

4 8 32 128 768 P n 
1 ? 39 9 s 4 5 ' 225? ' ° 8 q 

for which the ordinal n u m b e r s a r e l s 2 , 39 • • • , ns * ° * .. 

These products a r e identical with the convergents 5 after the f i r s t two5 

of the following continued fraction with infinite t e r m s 9 for which the ordinal 

n u m b e r s a r e - 1 ? 0, 1, 2 , 39 • • • , n. 

n= 4 
1 + 1 

1 + 1 
0 + 1 

1 + 2 - 3 
1 + 3 - 4 

1 + . 
9 6 (n - l )n 

These C. F . convergents a r e , when spun out in ordinal success ion: 

d 4 4 8 32 128 768 ^n 
4 ? 2 ' I9 39 9 9 45 9 2259 ° ' ' q 

The s e r i e s cor responding to the infinite C. F0 i s : 
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n - A 9 + 9 4 + 8 32 , 128 768 , , .n-1 p n - l 0 - 4 - 2 + 2 - - + - _ — + _ _ I 1 W + . . . + ( - l ) 
TI 

the p - and q being the products as found above in the successive products 
for n . 

(The author acknowledges with appreciation the help of Lavar Rigby, 
Instructor for Computers at Ventura College, who checked the convergence 
trend of the subject continued fraction for 11 on an IBM 1620.) 

* * * * * 

(Continued from p. 336) 

ELEMENTARY PROBLEMS AND SOLUTIONS 

B-153 Proposed by Klaus-Gunther Recke, Gottingen, Germany. 
Prove that 

FiF3 + F2F6 + F3F8 + ••• + F FQ = F F ^ F 0 t 1 . 10 4 b * ° n 3 n n n+1 2n+l 

Solution by Michael Yoder, Student, Albuquerque Academy, Albuquerque, New Mexico. 

Since FiF3 = F ^ F s , we need only show that when we add one to n, 
the increase on the left side of the equation is the same as that on the right. 
The increase on the left side is F F ; and, using the solution to B-152 with 

n on 
m = 2n, 

F F = F F n 3n n 2n+n 
= F (F F - F F ) 

nl*2n+l n+1 r 2 n - l n - l ; 

= "F F ]? _ F F F 
r n n+1 2n+l n- r n 2n-1 

which is just the increase on the right side of the equation. 

Also solved by Clyde A. Bridget, Herta T. Freitag, Serge Hamelin (Canada), John W. 
Milsom, C B. A. Peck, A. G. Shannon (Boroko, T. P. N. GJ, Carol A. Vespe, C C 
Yalavigi (Mercara, India), David Zeitlin, and the Proposer. 

* * • • • 


